ooodoodood

gooo

20080 10 8110
g oogd

1 O

“20 0000000000000 0000O0,0D0000DO0DOOO0DOOO”DOD0O0O0OO
JooooooO. Doooooooooo0o00g,1990 10 90000 New York Times O 0O
000000000 ooooO [9]: “In Shuffling Cards, 7 Is Winning Number”. 000000
0,5»200000000000000000007000000D0000ODOO,0O00DOO0OOO
0000o0000oDooo0,00000000Doo0000o0oo00oooooooooooon
000o0oog, P. Diaconis (Stanford D000, 00 HarvardOO. OO0 D00OO0O0O0OOO) 00O
0000000000, 00d “The mathematical proof, discovered after studies of results from
elaborate computer calculations and careful observation of card games, confirms the intuition of
many gamblers, bridge enthusiasts and casual players that most shuffling is inadequate.” 0 0O O
O000.00 Diaconis0 00000000000 D0O0OO0O0ODOO0ODN rifleshufled0O00O0O
go0,0000000ooogooooogooon.

gooooo0o0oooDoo0ooooooooooO0UoooOoOooO0. ogooooooooono
000,00000s52000000000000000 MarkovODOOOOOOOOOOoQoQQ
gobodoooooboo, 000000 oboooooooog
00000d. 0ooooo,0o0ddo MarkovOOOOOO,0000000000000DO0O
00000000o0o0o0oo0oooooooOo0. o0,000000000000000o0OO
doodo,00000o0bo0ooo0b0oooooooooodn cut-of 0O0DOODOO, 0000
OO0 MarkovO OOOOOOODODOOOODOOOOODOOOOODODO.DOOOOODOOOODOO
gooooooooo.

2 OOoOooooa

0000,0000000000000000000000000000. (Q,7P)0000O0,
0000 PQ)=100000000000. (5,8)0000000,5000000000 P(S)
oooooooo.

00 21 (0000). FOOOODOD X:Q—-SO SO00000OO0OO0.00S=RO0O0O,XO
gbooooog.



00 2.2 (00). SOOD0OUOO XOO0OO,

P*(4) = P(X~'(A))
=P(X € A), AcS,

000000 SO0000PX O XODOOOOO. 00000000 PXeP(S)00O0.

0 2.1. Q=[0,1], F = B([0,1]), PO [0,1] 00 Lebesuge 100000 (Q,F,P)000000
00.000,8(0,1)0 [0,1]00 Borel c 000000, Xj(w) =w, Xo(w) =1 —w, X3(w) =
- |20-1|00008=1[0,1]00000000. 00, X1,Xo,X; 000 PX1 PX2 pXa(g g
00 Lebsgue DO OODO.

00 2.3 (000). SOD000 X, YOOOPYX=PYOOOOO,X0YOOOOOOOOO
0, x<vooo.

00 2.4 (000000). §=[0,1]000,P¥0 SO0 Lebsgue 00000 SO0000 X O
[0,1]000000000000000.

021 S00000 (S={1,2,...,n}) 000, peP(S)O
d (@) =1, px)>0
zeS

oo0o0ooooo. o,l]ooo000o00oooUuUo0o,XxXo

X@) =i, S pk) <U@) < plh)

0oooooooPX=x000,00000 4000 S00000 X00000000000.

00 2.5(00,00). 0000 X000O RanX0OOO,00 RanX 00000000000,
oooo,
EX]= > kP(X=k)
k€RanX
0XO000O0OOO, f:RanX —ROOOO,

E[f(X)]= > [f(PX =k)
k€RanX
0O f(X)oooooo. oo,
Var(X) = E[X?] — (E[X])?
OoXxXgooooo.

00 2.6 (000000). X,yO0OOOOOO,RanX,RanY 0000000 P(Y =) >000
0oooo.oooo,

PX=z|Y=y) =

0XoOyYyoooooooooooo.



3 MarkovU[

goooooooo sooooOoooo. oo sSsgoooooooooooOooobooo. oo
gO0,000000000 SO0O0DOOCOOO0000O0oooooDooooOoOooooo, Markov
0000000ooooooooo. oooooo00 MackovOOO xz e SO0O0O0O0O0O0OO,
MarkovOOOOOOOOOOO 2000000 (D000 200000)000,00 SO0 Markov
gboooooooo.

O 3.1. §={1,2,3,4}00,S0000000 10000000000 OOOUOOOOOOO
U.000boo0oo,bo0b0ocobooooobocoboobooobooooobono.4x400 PO, O
O0z0000y(z,yeS)00DDOOOOODO (r,y)DOODOOUDDOOOOO,

O w= O O
O Wl N N
= O = N
O w= O O

ggb.goboboboobooboobooboobon.

N|—=
W=

1: 00000

00 3.1 (0000). 8] x[S]00 P=(P(x,9))syes 0,

ZP(x,y) =1, Vzxes,
yes

P(z,y) >0, Vz,yeS,
000000,00 POOOODOOO.OO00,|S| (000 4S)0 S000000. 00 P(z,e)
000 PO0200000000000000. 00, P(z,e)€P(S)000.

1

g 31 00bboobooboo10b0,bo0oboobon 1= goo.
1

00 3.2(0000). SO000000 {X:h=012,.. 0000 SOODO0O0OOOO.
gbooooobooboobooboon.

00 3.1. 000 peP($)00000000 P=(Px,y))ayes 1000,000000000
00 {Xi}=01,2,..00000.



1. Xo0OOO p0ODOD. 000 PXo =y,

2.000t2>0, m,y,xg,...,xt,lGSDDD,IP’(XtJrl:y\XO:xO,Xl:xl,...,Xt,lz
ri-1, Xy = x) = P(2,y).

00 3.3 (MarkovOO). 00 3.100000000000000O p, 0000 PO SO Markov

OO0 (oooo soo MarkOVDD)DDD,(Xt,]P’H)DDD. 00 pu=6,000 000000

Markov 0O QO OO, (X;,P,)000.000,46,02000 1000000 000000000
goooog.

032 (031000). Xo0000 p=(0,0,1,00000. Xx,0000 (3,4,0,5)000,00
0OpPO0O0O. X,0000(0,4,2,00000,000 pP?20000.

goooooooo.

00 3.1. 00000 x 00000 POOO MarkovOOOOO tO0O0O00 pP*O00O0D0O0.
O 3.3 (Simple Random Walk on a Graph). G =(V,E)000000,S=vV0O00.

deg(z) =0 200000000
= [Nz
O00.000N,={yeV:y0z0000 }000.0000,
1
TN yENl7
P(z,y) = { deg(x)
07 y¢Nw7
ooo0og P=(P(z,y))D0OO0ODO0O0OO. 00 POODOOOOOO MarkovO OO, 0000
000 simple random walk (SRW)O0OO.

1
2

W=

02 |S|=400000000000000 SRW

go0oo0o0ooo,000oo0o0ooO0O0,0Do00n0 MackovOOOOOOOOOODO
gbobooobooobooboobooooooboobooobooboobooboo.obooooaoo
gbooog.

O 3.4 (Simple Random Walk on Hypercube). S ={0,1}"00,p: SxS—-RO0O0O0O00O0:

33:($17332,---75Un)7y:(y1a92a-~-7yn) ES DDD7P($7y):ﬁ{1 Slgnxl#yl}

p0 SO0000000,HammingDOOO0000. 000 n=4000, p((0,1,1,1),(1,0,1,1)) =
2000. 2,y € SO00 p(z,y)=1000,2y € E(000D0)00000000,(S,p)00000
0000.000000 hypercube J00. SO00000000000000 2= (z1,%s,...,2,)
00000,00000000000000000000000



1. 1/n00000+00000.
2.0000:00000,z;—1—-2,000.

000,00000000000 SO000000000, hypercubed O SRWDOOO.
(1,1,1)

@00 @00

0 3: n=30000 hypercube

O 3.5 (Markov Chain on ¢-coloring). G=(V,E)00000000,¢0000000. z,yeV
000,20 y0000000,00002yeE00000z~y0O000000,S={c:V —
g =1{1,2,...,q} : c(z) # c(y),z~y}000. 00 ce SO000,000000 ¢O proper O
goboo.bobobobboobooobuooboobooboo.

l.ceSO0,VOO0001/|V|00v00O0.

2. Ay(c) = [g]\ {c(z) €[¢) ;2 € N,} (00000 00000)00,000000 0000
0000 1/]A(c)00000000000.

000,00000000000000 e00000 ¢ceSOOO0.ODO0O0ODODOOOODOODO G
Oproper 0000000000 SO0 MarkovODODOOO.

O—O O—
G= ,q=4000
—@ —®
proper 4-coloring non-proper

0 4: proper O non-proper

o00D0oO0 MarkovODOOOODOOOOODOOO.

00 3.2 (Chapman-Kolmogorov 00 0). (X¢,P,)0 MarkovOOOOO. 0D00O0O,00000
goooo.

Po(Xips =y) = pr(xt =2)P.(X,=vy), Va,yelS, Vt>D0.
z€S

00000 Chapman-KolmogorovO OO OOO.



00.000z,yesSO0000¢t>00000,P,(X;=y)=(0P)(y) 00000000000
og,

P, (Xirs =y) = (5th+S)(y

= (0, P")P*

_Zépt

zeS
= Pu(Xy = 2)P.(X, =y).
zeS
oooooooo. O

)
(y)

)
(2)P*(2,9)

4 MarkovOUOQOOoOooooond

oo0oDo,0000000D00000,MarkovOOOOODOOOOODOOOODOOOO.

4.1 000000000

0000 P=(P(z,y)000 SO0 MarkovO O {X;}—010.. 0000000000000.
00 4.1 (0000). n=(r(z)) eP(S)0 xP=x0000,000 z€5000,

> m(y)Ply,x) = n(x)

yeS

000000,~00000000000.

00 4.2 (0000). 7= (rx(z)) eP(S) 0000 z,y000,
m(x)P(z,y) = 7(y) Py, )

000000,~00000000000.

0 4.1. 1.00000000,000¢=0,1,2,...000 7Pt =7000. 0000
P.(Xe=z)=n(zx)000.

2.7 0000000000000 OO0.O000-0000000,000yeSO0O0O,

> w(@)Px,y) = > w(y)Ply, x) = (y)

€S z€S
gooooa.

‘ -
O

3. PO0O0O0D,00000002,yeS000, Plz,y)=P(y,2)00000, n(z) =
ooooooo.

0 4.1(033000). 000 G=(V,E)0OSRWOOOODO

; Yy € Ny,
P(z,y) = { des(2)

07 y¢NI7

deg()

ooog, n(z) = 31E|

ugbooaboodan.




4.2 0000000

00 4.3 (000). 0000 P = (P(z,y) 000 SO0 MarkevDODO, 000000000
00000,0000,0002,yesS00000¢>000000, Ple,y)>000000,
MarkovOOOOOOOOOOO.

0 4.2. 05000000000000000 §S={1,2,3} 00 MarkovOOQOQOQOGO.3001
go0Do0o0o0ooooOooDoOo,Do MakevOOOOOOOO.
1

2 1
2

1

05 00000 MarkovODO

0 4.3 (Random Knight Move). SOO00O000 (8x800000)00,000000000
000 MarkovOOOGOOO.O00OCOOO (0)0200,00100000000,00200,0
(0)0D 10000000000 0. 0000000000000 00000000000 Markov
00000000 (ooos000000000O0DO00OO0DOoUoOooooDn).

06 0d00000d

00 44 (00). € S0000, Per(z) ={t >1: Pl(z,x) >0} 00, d = G.C.D(Per(z))
(G.ChOOOUOOOUO)UO zO00OODOOO.

0 4.2. MarkovO OOOOOOOd,02000000000000000O0O0.00d,=10
gooo,0o0obooo.

0O 4.4 (Simple Random Walk on Z,). Z, = {0,1,...,n— 1} (modulon) 00 SRWOOOO.

e n000O0O0ODO::cZ,000,i—¢+1—-¢000000000000000000O
g,+—+1+1—---—i—-1—4¢0,n000000000000000000 11,0000
oooooa.

e n0I0J000D0O0O0OOUCOOUOCOOODCOOUOD (OUOD2000)000O0O0OO0OOO
o,oo0z2000.

04.5. 080000 G=(V,F)UOSRWUOOOO.V={00O0O0O0O0OOOOO }00O0,0O
O0zeVOOO,00d,03000.



a 7. Z, 00 Markov O O

08 0ooboboooooboooooon

044000000,n00000000,MartkovO00000D0DOO0OOOODOOOOOO
gobooOoobooOoobo. oboobobo0ooo0o0oDooDbOoOoboboOoobo0oO0ooOOoOoDOog lazy
version 0 MarkovO OO O OO0OOOODOOOOODO.

00 4.5 (Lazy Version Markov Chain). 000 G=(V,E)000000 POOO MarkovODO
ob0ooo0. 0zeVUOOOOOx00 ct0000000DO0O0O0O0O0OO,D00000000

ug %,DDDDDDDDDDDDDDDDDDDD %DDDD.DDDDDDDDDDDDDD

Markov 00000 Markov OO0 lazy version OO0 0O. O00O00000000 R, 0000,
1
Plazyzi(IwLP) (IO |viocoooo)
JoD0.00 POODOODO~OODOO,

1
T Plazy = 5(71' +7P)
=7

000 P,y 000000 x00O0O.

[ I
N[ =
NI
N

O 9: Lazy version

0 43. 000044000,,00000000 lazy versiond MarkovO OOOODOOOOO.



4.3 0000000

gobboobboobobooobooobbooobbooboboo. ooobbo pwbooo
pPt0t—oo 0000000 000000D000O0. 0000,

ﬂ:tlim ,uPt'H:tlim (uP" )P =P
ooo0.0jbOo,0b00ob00ob00oC00obD0b00o0 pPO0ODODOUODOODODOOODO.

00 4.6 (00OO00O). (Xy,P,) 00000 SO0 MarkovOOOQOQO. 0000 7, 000000

oo.

)inf{t>1: X, =2}, {...}#0,

") {..}=0.
0000,7 00000 0000000000000000000,00020000,00
0:00000000000.00700000000.

00 4.7. P.(rm, <o00)=100000,2€SO000000000O.
00 4.1. MarkovOOOOOODOODOOOOODOODO. ODOODOOO z,yesSOOO,
E,[ry] < o0
gopooo. oo sSsooopooooooooo.
000000000,000 [6, Theorem 1.8.2] 00 .
00 41. zeSO0O00DOOODOODO

M:L’(y) =E; [i 1{y}(Xt)]

t=0
00000.0001,0ACSO0000000.0000,n(y) = pe(y)/Eslr,] 000000
ry)00000000.

0O 4.4. thgl 13 (Xy) O yODODODOOO (occupation time) O 000, Markov O 0O (Xy,P,) O
goobo ,,000y0OO0OOOODOOOOOODOODOODOOD.

0 4.5. 000000000 O0OO0O0ODOOOOODOYODODOOOODO.

5 00000000000
peP(SxS)0000

pm@) = way), zes,

yeSs
pa(y) =Y plx,y), yeS

zeS
000000, u,pueeP(S)000. 00 ;O 0 00000000 (0000,01,0 20
000 w00000O0).
00 p,pe € P(S)0000, 00000 py,p2 000 peP(SxS) 00000000000
000000000.000000000001000000000.000000000000
ooooooao.



0 5.1 0000 p1 ® pe).

(11 @ p2)(x,y) = p(w)p2(x), z,y€S.

oboo,bobooboooooobooboooocooooooooooooooooo. ooo, o
gobooboooboobooboboooooboboooobooobooo.

00 5.1. u,up € P(S)0000, 000000 (Q,FP)00000000000 (X,Y)OO
O0PX =py,PY =y (000 X ~pg,Y ~pp, 000)0000000 (uy,pe) 00000000
oo.

00 5.2. 0000 XO0YOOOOOOOO,{X=2}0{Y=4}0000000000,00
0000000000000000. 0000,000 #,y € S0000,P(X =a,Y =y) =
P(X =z)P(Y =y)00000000.

0 52 (00000000). $={0,1}00,5000000 0 u(0)=pu(1l)=30000.
(X,Y)O (p,p) 000000000 (0000 X ~pY ~ p),

IU'(Z’J)ZP(X:Z7Y:J)3 i?j:()?l?

O0OoOoOd. ogg

lmo,m u<o,1>]

n(1,0)  p(1,1)
gooooooboo, o000 oo, tooogoooooooon
000 A, BOODOOO,000000000D0000O0O00OO (%DDDDDDDDDD)DDD
0OAO0O XOOO,BOYOODOODO 10OOODOOOOODOODOoOoooDOooOO.

1.[ A BOOOOOOOO0OO0OO0,0000000000000X,YOOOoQoog. o
0
O

EN N

gboboooboobooooboob,o0bbobboobooboobboooa
a.

O O
O Ope nm

2. :CO00D00O0000OO0000O000DO00D0D A)BO X, YOOO X=Y0O

o wim
o o

ooooao.

Or
O

:CO000000O000DO0U0O00 A,BOX,YOOOY=1-X0O0O0ODOO

oim O

O

U o v
L

0 0.
00000000 (X,Y)000 (up) 0000000000000. 000000000000
0000000000. 00000000 BOOOOOOOACOOD XO0O0OOOOOOOOO
000,000000000,000000000000000000AO0XO0000100
000 l0000000000000000,X~p000.0000A0000000BOO
000000,000Y~p00000000000.
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6 OJOoogdg (total variation)EI odoogno

00 6.1. x0v0 SO0000O0O0O0C0.0000,0000000000000000.
”/U_VHTV:glg)S(W(A)_V(A)"

000, w(A) =Y ,c,u(z) 00000, »(A)0D00000O0OO.

06.1.0<|ell;y<100000.

b e6.1. DbhoooobOooboobadg,oabooobaood

= vy = 5 3 lue) — v() (6.1)
€S
=Y (@) - @) (6.2)
z€S, p(x)>v(x)
=inf{P(X £Y): (X, Y)O (p,v) DOODOOODO }. (6.3)

O0. sOo0ooog BO BZ{$€SZM($)>V($)}DDD. ooo,So0oooooo Aod
oo
W(A) — v(A) = (AN B) ~ (AN B)
+ (AN B —v(AN B°)

000.000,wWANB)—v(ANB)>000 wWANBY) —v(ANB?)<00000000

1(A) — v(A) < w(AN B) — v(AN B)

<u
< u(B) —v(B).
x0v0000000000,00000

v(A) = p(A) < v(B) — u(B).
000

[u(A) = v(A)| < u(B) - v(B)

O000.000,A00000D0DDDDOO,

ln=vlry = u(B) —v(B)

000, (62)00000. 00, uB)—v(B)=v(B%) —u(B)O0O (6.1)00000.
00 (X,Y)O (p,v)0000000000000. A0 SO00O0O0O0OOOOO,

p(4) — v(A) = PX(4) - PY (4)

XeA)-PYeA
XeAYcA)+P(X €AY cA)—PY € A)
X eAY e A9

X4Y).

IA I

IN

B(
P(
P(
B(
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000, maxacs |u(4) —v(A)| < P(X #Y)000. 00000,
[ —vilry <inf{P(X #Y): X ~pY ~v}
00000.000000
[p—virvy =P(X #£Y) (6.4)
0000000000 (X, Y)Ooooooooo.
p=Y n@)Av(z)
z€eS

00000, (6.2)00 ||u—v||py =1—-p0000000000.00,5S000000 41,72, 73
ooooooooooo.

o VEEEE ww >,
1(z) =

0, oooo,
o [ e < v,
o(z) =

0, oooo,
o) = HLAE

goooooogo
od0p00D0DO0OO0OO0O0O0O0ODDOO.O0DODODOO0,X=Y~000.0000000, X,
YOoOouo X~v,Y~ynOO0OOO0OO0OOO0O0. 0000,

P(X =z) =py(z) + (1 —p)n(z)
= p(z)

000.00000,P(Y =y)=v(y)000. 000000PX#AY)=1-p=|u—v|rv O
00.000,(64)0000000000000000. O

00 6.2. (6.3)0 nf00000000000O0DOOUOOOOOUOOOOO.

7T Oo0oooodd
0000,Markov000000000000000,0000000000000000

00 7.1. 0000 POOO MarkovDOOOOODOOOOOOOO. 0000,00r>100
00,000 2,yeSO¢>r0000 Plz,y)>000000

o0 71. 000000000 MartkovOOOOOO,00 vr0OD0000DOOOODOOOOD
o0.00 00000 PODOOOODOO.OOO0O0,00000<ax<x 1000040,

max || P! (z,e) — 7|7y <a'"" AL, V>,
z€S

goooo.
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00.000-0000,
P"(z,y) > dm(y)

000D é00000.006000000 QO
P =611+ (1-0)Q
O0000000. 000 H(z,y)=n(y)000. 0000 QUODOOOOOO. OO,
PII=TIP =1I,QI =1I,11? = II
oooDOoooooo.

(1=6)Q)" = (P — s

P i (%) ey -omp

(s

=P 4 (1= 8k - DIL

00O
Pt 1= (1 - 6)*(QF —1I).

000 P/ O0OD00D0 (0<j<7r—1)
PRI 11 = (1 - &§)F(Q*P7 —1I).
00 L'0000 1/20000 (6.1)00

HPTk-i-j(x, .) — 7THTV = (1 — 6)k||QkPj(xa.) - 7THTV
< (1-68)"

gboooooooon. O

0O 71 Markov OOOOOOODOOO0OOODOO0OOO0OO0ODOOO (DODDOOO0OOOODO lazy
version 0000000000000 OOO0O).

8 ogng

Soooooooo. (X, P,)0SO000,00000 MarkovOOOOO. OOOO,000
00000,00000000 P = (P(2,y))syes 0000
lim P'(z,y) = 7(z), Va,y€ S

t—oo

goooo.
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00 81.¢t=0,1,2,... 0000
d(t) = max ||Pt(ac7 o) — 7|1V,
TES

d(t) = max ||P'(z,e) — P'(y,e)|lrv
z,yeS

ooo.

081 1.0<|e|ry<1000<d(t),dt)<1000.00,0000+¢00000000
0000 (00 8.3).

2. Pl(z,e)0 x 000000 MarkovOODODOD ¢t0000000,dt) 00000 000 ¢
gboobooobooooobooog.

00 82 (000O0). 0<e<10000,
tmix(€) = nf{t > 0: d(t) < e},
tmix :tmlx(l/4)
000. 00 tmx 00000 (mixing time) 00 0 .

0 8.2. 1. 000000 MarkovOOOOODODODOOODOOOOOO,000000n,000
gooooooooooooooooooooo,sobbooobo”ooobooOooooog
googoog.

2. tmix 00000 e=1/400000000000,0082000000,0<e<1/200
e0O00OO0OOOODO.

O tmix(ﬁ)

O 10: d(t) O tmix(€)

00 .S 0000000000000 8,00 MarkovDODDOODDOO £ 000, n— oo
00000+ 0oD0O000D000000000000

0 8.1. n 00 hypercube S,, = {0,1}" 0 0 lazy simple random walk ! 0 O tf:i)X:O(nlogn)D
0o0.000,00000 nO0O0O0,n0000000000C00O0,dy)0000DOOOOOOO,
000000000 d(y)00000000. 000000og cat-of 00000,

1p200910000000.
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\

>~
0] 1™ = 2 nlogn

mix

O 11: cut-off 0O O OO

00 8.1. d,d00000000O0O0.
d(t) < d(t) <2d(t), Vt=>0.

00.000000 P=(P(2,9))ey.s 000000 Pi(z,e)0 P(S)00000,0000 «0
r=rPt00000000OOOO,ACSOOOO,

m(A) =) (7P)(2)

z€EA

=Y D> wWP(y,2) =) w(y) Y P'y.2)
zEAyeS yes z€A

= 7(y)P(y, A
yeSs

goooboooooo.ooon,

|P!(a, A) = m(A)] = |P'(x, A) =Y w(y)P'(y, A)

yeSs

=D w@)Pl(,A) = w(y)P(y. A)

yeS yeS
< Zﬂ—(y)‘Pt(x,A) - Pt(yvA)|
yeSs

000.000,0000000000,
1P (2, 8) = |l = max |P*(w, A) — 7 (A)]

< Z max|P z, A) — P'(y, A)|

yeSs

=" w(y)|P'(z,8) - P'(y.®)llrv
yeS

< wly) x d(t) = d(t)
yeS
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O000D0.000xeSOO0OO0O0OOOOOOODOOODODOOO.
gboooood

[P (z, 0) = Py, o)lrv < [|P'(z,0) = 7llrv + [P (y, 8) — 7lrv

Oz,yeSODODOOOODOOOODODOOO.
00 8.2.d,d00000000000O0ODO.

d(t) = sup [uP'—m=l|pv,
HEP(S)

d(t) = sup |[|pP" = vP||7v.
w,v€P(S)

(8.1)

(8.2)

O.(l)0ooo. 000000 1000000000, 0000,46, € P(S)OOO,

Pi(z,e)=4,PtO0000000O,

| P! (z, 8) = 7llry = |6.P" — |7y

< sup |[uP' —7llry
HEP(S)

00000.zeSO0O0000O0O0O0O0O0O

d(t) < sup ||uP" — 7|y
HEP(S)

O000.00000000000.000000o0ooOo0Oe.10(6.1)000O,

1P~ wllry = 5 S 1P ) — 7o)

yeS
=%Z > w(@)Pl(a,y) = > p()w
yeS |lzeS zeS
ngZu )P (z,y) — 7(y)]
yeSxesS

gbo.o0bgboby0obooboobon

|nPt =7y < Y|P (w, 0) = 7oy isle)
zeS

< Pt —
_rgggll (z,0) 7r||TVerS,“(x)

= d(t)
000.peP(S)000000000000

d(t) > sup [uP"—7lrv
neP(S)

O000.0000100000000. 02000 (82)0000ooo0.

00 83. preP(S)0000
|uP —vP|ry < ||p—vlrv

00000.00d(t),d¢)0000000ono.
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O0.00000000006.10 (6.1)0000,

P~ vPlley = 5 " (uP)) ~ WP

yeS

= %Z Z,u(x)P(x,y) — Z v(z)P(z,y)

yeS |zeS zeS

S*ZZW )| P(z,y)

yeS xzeS

53 nle) -

reS

= |lu—vlrv
ooo0o.o0o
d(t+1)= sup ||/,6Pt+1 — 7|7V
HEP(S)

= sup ||(uP")P —P]zv
HEP(S)

< sup |[|pP* 7|
HEP(S)

=d(?)
00000d@#00000000000.dH)0000000000000. O

00 8.1.d00000000.000,

d(s +t) <d(s)d(t), s,t>0
gogooo.

O0. P°(z,e),P(y,e) ¢ P(S)0D00000000D0 (X,,Y,) 000. Chapman-Kolmogorov O
00 (00 32)00

Pst (g, w) = Z P5(x,2) P (z,w)
z€S

= Z}P’ 2)P'(z,w)
z€S
— E[P!(X,, w)].
ogooon PSth(y,w) :E[Pt(Ys,w)] ogoooo.oood

1
1P+, 0) = Py, @)llrv = 5 37 [P (2, w) = P (y,w))

weS

_ % 3 B[P (X, w) — PY(Y;, w))|
weS

< % > E[|PY(X,,w) — PH(Ys,w)]]
weS

17



1 t t .
=E |5 > [P'(Xsw) = P'(Ys,w) Xs £ Y

weS

0oo0.000, X,,Y,e SO0,

1
3 Z |PY (X, w) — P (Y, w)| < max

ZIP 7 w) = Py w)]

= max ||P'(z,e) — P'(y, e)|7v
gcyGS

= (1)

weSs

goooo,
[P+ (z,0) — P°H(y, o) |lpy < d(t)P(X, # Vi)
=d(t)||P*(x,8) — P*(y, )| rv

0000o0.000 (X,,Y,)OOOOOOOOOUOOoOoOoooOoOo. 000 z,yweSO0O0O0O0O
oobooboooooo. O

00 8.2. 0<e<1/2000,
tmix(e)é |—10g2 6_1—|tmix
O00000.000 [e]0 cO0OOOOOOOOO.

0O0.c000000,|c/0c00000000000.000,d#)00000000000OO
00,d(t) <d(t)<2d(t)0000000,

000.0000, tmix(279) <ctmx 00000. c=log,e ! 000000000. O

9 Juooon

SO00000 (X,Y)00O00000 (X,Y),000 X2 x,y4yoooooo, 00000
00000000’00000000000.000000000000000.

00 .S=1{0,1,2,...,n,}00,80000000000000000000.
e 0000000O0D01/2000000000,001000.
e00k(l<k<n-1)0000001/2000 (k—1)000 (k+1)000.

e I nO000OOUDO 1/2000n—-10000,00,0000.

18



1/2 1/2 1/2 1/2 1/2 1/2
1/2 1/2 1/2 1/2
0 12: 000 lazyD0OOOO000 SRW

000, 00000, S00000000000000 SRWOOO0OOO00O, 0000 lazy
0000O0. 00000000 SO0 MackovDODOOOO. 0000, 000000000
P=(P(z,y)syes 00000, 2<y0000000 2,yeSO0000

P'(z,n) < P'(y,n), Vt>0 (9.1)
gboboooooooo

oo0oooooooooooooDo000. 00000, MarkovOOOOOO0O0O0O0O0O0O0ODO
gboooooobooooooboooon.

09.1.(91)0,y0000000000RO00000ODOO0UOO.O000OOO0OOOO0OO,nN
On-100000000000,000000D000O.

00.2,yeS02z<y0000000. {X;}s>0,{Yi}+>00,000000000000,000
0z,y00000 MarkovODOOOO. ({X,},{¥,) 0000000 ({X,},{v;}) 0000000
000: 0000000000,

e 000D, X,Y,00000000,
e 000D, X,,Y,00000000.

000,00000000000000000000,00-~,000000-000000000
00.00 (X,Y,)0 (X,Y,) 00000000

¢ X; <Y,t>0
eY,— X, 000000
000.000000{X,=n}c{Y,=n}00000

Pi(z,n) =P(X, =n)
<P(Y, =n)
= Pt(yv TL)

gogooad. O

000000000000000 (X,Y;)0 SxS00 MarkovDOOOOOOO. 00000
SO0 MarkovD 0 X,,Y, 000000000000 (X,,Y,) 0 (X,,Y;) 0 S xS 00 Markov O
0000000 Markov DODODOOODO0. 000 X, =Y, 00000

Tcouple = inf{t >0: )?t = )7;5}

oboooobooooooo.
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00 9.1. 2,y e SO0O0D00000 Markov DO DOOOD0000 (X4,Y:) 000, Teouple D00
000000000000.000,¢> 7eeupe 000 X, =Y, 00000. 0000

HPt(.’IJ, .) - Pt(yﬂ .)HTV < P(z,y) (Tcouple > t) (92)
goodoo. oo,
d(t) < a(t) < ;gagé P(w,y) (Tcouple > t) (93)

goooo.
Oobo.0o0ooooooooo,
Pt<xaw) - Pt(:‘/’w) = IED(az:,y)(jzt = w) - IP)(ac,y) (f/;t = ’LU)
= P(w,y)()?t = W, Tcouple > t) + HD(a:,y) (jzt = W, Teouple < t)
- P(l,y) (}7;& = W, Tcouple > t) - ]P)(l,y) (ﬁ = W, Tcouple < t)
000.0000,00000 {X; = w, Teoupte < t} = {¥s = 0, Teouple < t} 000,
|Pt(x7w) - Pt(va)l = ‘P(x,y) (jgt = W, Tcouple -~ t) - P(x’y) ()’;t = W, Tcouple > t)|
< IF)(x,y) ()/Zt = W, Tcouple -~ t) + ]P)(gc,y) (?t = W, Tcouple -~ t)

000.wO00D0000001/2000000 (92)000. (9.3)0 (92)0 z,y0000000
ooooooooo. O

000000,0000000000000 (O0U0 7eeupe J000) 00000000000
00,000000000000DO0O00000000DDO. 000DO0O00000 MarkovODODO
uboooooobooooooo.

0 9.1 (Lazy Simple Random Walk on Hypercube). S, = {0,1}" O Hamming O O

pley) =H{l1<i<n:z; #y}, = (21,....20),y= (Y1,---,Yn) €S,
000000000000. 000000000 MarkovOOOODOOOOOOOODO:
1.001/,00000000.
2.0i00000000001/200:0000000000.

goo,00b00bo0 100000000 0DO0.0DbOODO0O0ODOODOOd MarkovD OO,
hypercube S,, 0 O lazy simple random walk (LSRW) 0 0O.

oo s,o00d LSRWDDDDDEItf&XDDDD

oo 9.1.

tfgl)x < 4n[1+logn]
goooo.

gb. 000000000
z,ye SOOOOD0OLSRWOOOOOOO (X, Y) OOOoOoOooooooo:
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1.001/n00000000.

2.0:000000000,001/20 X,)YOO:OOODOOOOOOO 10ODO.

X\ (100 0
v,/ \o 1 1 1

Xi+1
gooobooooobo 4000000000, goo,

t+1

C 0 0 0) (10 00 %

000
01 1 1 0110 1
00000,0000000000 1/2000. 0000000000,00000000000
000000000, p(X,,Y;,) 000000000 (00000000000000000000
00,000000000100000000).
000000000000
n00000000000000000 (000000000)0,00000000000000
00000 Teowpon D000. 000, 000000000000000000000000000
00000000000, (X,,Y,) 00000000000 Tewen 10 000000000000
Ooo0o0oo0ooo.
0000000000 {0,1,2,...,n} 00 MarkovD O OO DO,

ooo,

I =

==

Z,=00¢t0000000000000,
,=27Z000 ((—1)00+0000000000,

n
Tcoupon — § Ti
=1

000.0000:i=1,2,...,n000,

P(Zyyr =i—1|Zy=i—1) = —,

P(Zt+1 == Z|Zt == Z - 1) =

00000000 (n—(i—1))/n00000000. 000

Mn:ky:"_u_l)c_l)hi k=1,2,...

n n

ogoooo.ooo,
E[Tcoupon} = ZE[Tt]

k=1
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< n(l+logn)

ooo.

oo0
goooOoOoOoooooOoO0ooOoOOOOOOoOO,z,wOOOODLSRWOOOODOOOODO
U000000o0o0oo0Oo0O0O000000000 7eoupon 2 Teouple 1O 0. OO OO0

E(z,)[Tcoupon] = E(z,y) [Tcouple]
> E(z,4)[Tcouple; Teouple > ]
> 1P (3,4) (Teouple > 1)
000. 000, Py (Teouple > £) <t n(1+1logn) 0000 ¢,y e SO0000. 00000
9100,

n(1l + logn)
t
000.00 t=4n[l+logn] 000 d(4n[1+1logn]) <1/4000,0000000. m

d(t) <

092 000n—o0o0000d tf:iLNQ_lnlognDDDDDDDDDDDD. ooo9100,00

oo0oDoooOooDooO,nlegn000D00O0O0O0ODOOOOODOOOODO.

10 OJO0oboobbooogo

0000,000000000000000.0000,00000000000000000
oooo.

00,0000 SO0 MarkovD0OOOOODOOO00000. 0000,00000 Markov O
00000000 POO0OOOOOOOOO0 SO0000000000. 0000, P(z,y)>00
0000,z~y(eye B)0000D0. 0000,000000 p((11.1)000)000000 8
000

diam($) = max (p(z,y))

goooo.

10.1 OO0odoboooodooboo

gobgooboooog.

00 10.1. 0<e< 1/2000,

in(€) > {dwrm(QS)—l J |

00.00,00 2, 000000 B(z,r)D0O000. p(xg,yo) = diam(S) D00 xg, yo 0O
0, t = |[(diam(S)—1)/2/000. 000000 supp[P(xg,e)] C B(zo,to), supp[ P (yo, )] C
B(yo,to) O 0O supp[P* (o, ®)] Nsupp[P* (yo, )] C B(xo,to) N B(yo,to) =000,

d(to) > |P* (x0, B(z0,t0)) — P"(yo, B(zo,t0))| = 1,
0000 d(ty) =1. 000, 1 =d(to) < 2d(to)) 00, d(to) > 1/2000. 00000,0 < e < 1/2
000 tix(e) > 600000, 0
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0 10.1 (Lazy Simple Random Walk on Hypercube). S,, O hypercube {0,1}"™, O 0O, Markov O
00 S,00LSRWOOO. 00004, diam(S,)=n0,

1 > VHIJ = O(n)

mix =

gbogo.o09200000000,000 tf:i)XNQ_lnlognDDDDD,DD 1010000000
ooooboooon.

10.2 0000 (Bottleneck ratio) 0000000000

gooo,000b0o0oobo,SOMakovODOOOODOOOODOOODOOODOOODO
gooooooobobobo,boob0oboooooooobobob. bobOo P,OODO
#000 SO0 MarkovOO (P,7)0000,000000 SxSOOODOOOOOO.

Q(z,y) = 7(x)P(z,y),
Q(A’ B) = Z Z Q(x,y)

r€AyeB

00 10.1 (00O00). SO0000 (Bottleneck ratio) ®*00000000.

P = min (D
DCS,x(D)<1/2
noo,
Q(D, D°)
®(D) =
ooo.

0 10.2 (Simple Random Walk on a Graph). 0000 SO00O0 G=(V,E)OOO. GOO
(P,7)0 SRW, 0000

—

) y ~ x?
P(x,y) = deg()
0, noo,
000000 MarkovOODOOOOO,
0D
D)= =————
ZxED deg(x)

Oo00.000,0D0 DO D°OO0OQOOOOOOO

0 10.1. 000000 G=(V,E)00O00O,DO0VOOUOODOOOOO,9D0O EOOOOOO
og.

obobooooobooooobobooooboobobooboobooobooooon.
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00 10.2. SO0 MarkovO O (P,r)000000000O0O0O. 0000

b > —
le_4¢*

00000.0000,#(D)<1/200000 DCcSO000 tmy > 1/(A9(D))00000.
000000000000000000000.

00 10.1. O SOOO0OO0O,pO0 SODOODOOODODODO.

np(A) = w(:(g)D)
oooo,
(D) = [|upP = polrv
0oo. oo,
lupP* = pplrv < t®(D)
goood.

0 10.2. pp € P(S) 00 supplup] Cc DODODO.

00.D¢={yeS:upP(y)>pp(y)} 00000000000,

> (upP(y) = 1p(y))

yE€S,up P(y)>pnp(y)

> (upP(y) = 1))

yeDe

> > up()P(z,y)

yeDec zeS

> 3 g @Py

yeDe xeD
=®(D)

lupP — ppllrv

goboob.ooo,0b83b000b0ooobogn,

t
o Pt = ppllrv <Y lupP* = pp P~ lry < t®(D)

i=1

ooooo. O

00 10.2000. D C S, n(D) < 1/2000. supplup] c DOOOODDO, |pp — wllry >
lup(D¢) —x(D°)|>1/2000. 000,00 10100

<\lwp = llrv < lup — poPlrv + |pp Pt — wllrv

DO =

< t®(D) + d(t)

000. 000, t=tn 0000, 1/2 < i ®(D) + 1/4, D00 e ®(D) > 1/4000. 00
0000 DcCcSO000000000,000000000. O

000, “0000o0ouoo”oo0,e*0000ooo)pbooooooog.
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O 13: Binary Tree

L1

Tn—1 T

Tpn—2

xs3

X

O 14: Star Graph

0 10.3 (Simple Random Walk on Binary Tree). G = (V, E) O binary tree (O 13), (P,m) O
binary tree 00 SRWOOUOO,0000000 pDOQOOOOOOOODOO.

obooooooboboooboobobobob0,0 40000ob0boOooo0og, 0O proper O
O000DoO0o00ooOo MakovODOOOOODO.

0 10.4 (g-coloring on Star Graph). G O star graph K;,1 = (V,E)00O (O 14), SO G
OO0 proper DOOO00O, 0000 S={c:V —[q]:c(z)#clv),z e N} OOO. OO0OO
IS|=q(¢—1)""'000.000,S00 Markev D0DO0ODO0D0000000:

00000 MarkovO OO ce SOO0OODODOODOODOO, 000000000 OOOOOO0O
oo.

1. vOoOoOoOoOo w0OOO (DOO0,0000000000 1/n000).
2. 0000 veVI0O0O0,wO0000000000

[q] —{c(x) iz € N}, w=w,
[q] = {e(v)}, w # v,



gobooboooboobbd«wgo.

gooo,100000000,10000o0o0ua, preoperdd0do0dodooooognn
gooobooboobobuoobooboobobooobog. Uobb,e 3000, 00
MarkovOOOOOOOOQOOOOOO,000000000,0000 w(e)=1/|S|000. O
O, c=(1,c(x1),c(xa),...,c(xn,—1)) 0000000000,
(1,e(xr), e(z2), ...y e(Xpn_1)) — -+ — (1,3,...,3)
—(2,3,...,3)
— = (2, (1), (22), .., (n1))

gboooooooooooo,vuooboobooboobooboobo,v0gobbooobooao
gbooooobooboooooboooo.boo,00o00bo0o0o0o0g,

(1,¢(z1), c(z2), ..., c(xn-1)) — (1,2,c(x2), ..., c(xp-1))
= (1,e(xq), c(z2),. .. c(xn_1))
ggbg2000000o4a0,

(1,e(x), c(za), ... ye(xn_1)) = (1,2,c(x2), ..., c(Tpn-1))
— (1,3,¢(z2), .. (xn 1))
— (1,c(z1), c(z2), ..., c(xp-1))
g00030000000bb00bD0o0DO00bD. CoboUoDOo0ooOOobOoOOoDO Markovd O

00000000000000. 000,D={ceS:cw)=1}000. D°={ceS:cl)e
{2,...,¢}}0000000OOOO,

QD,D)=>" > =

ceD c’eD¢e

ZZTFCPCDI

ceD
_ 1 A1
Z ISl n A0

(10.1)

ooo. 00, Ple,D)O,000000000 100000000 100000000000
00ooooO0oo,1/n00000000,00 A(e)0D0 100000000O0DOO0ODOO,

no_ l ) |Ay(c)| — 1
Ple D)= o )

n
000. 00, [4,(¢)] =1000 (JAu(c)| —1)/|Ax(c) = 0000, 0000000 (J4(c)] —
1)/|Av(c)|§1DDDDDDDD

Z l L <tfeeSiev) = 1,1 4,(0)] > 2} (10.2)

ceD

000.000,(102)0000 |A4,(c))000000,10000 (¢—-1)000,+0000000
00 (¢-2)00000000000000000000000000. 000000000000

26



0,0010000000000000 (¢—1)000000000000. 00 21,29,...,%n-1
0000 (¢—2) 0000000000, |4,() >20000000000000000000,
000000000 (-2 !'00000000000. 00000000000, 00000
00000000070 -2 00000000000007000000000000,00
Doooo.ooo,

Hee S:e(v) =1,[Au(0)) > 2} < (¢ = 1)(g—2)"""

O00000.00«0000000OO0O0OOO, (10.1))0D000O0DUOO0OOO0O. 0oo,

(D) (g — 1)t
_1(g=2)""  1(g—1)* (g—2\"
S n(g-1)"2 0 (¢-2) <q—1>
_l@=Dr/ 0 1N
- n(g—2) <1 q—l) ‘

00,1-z<e*00,

ooooo,bo0 10200

4=2  n/a-1)
tmix > ———5ne™ @
S aq-12

ob00. 0000, 0b0b0n00000D00D0OD0O000 mixingOOOOO,00000
0000000000000 000000000000000 (000000000000 0OO0
000000 mixingDOOOOOOOOOOO).

11 Kantorovich OO O OO OO
0000000000000 0000000000000000000000000.
00 11.1. (S,p)00000000. 00 pk : P(S) x P(S) — [0,00) O

prc(i,v) = inf {E[p(X,Y)] : (X,¥) O (u,v) 0000000 }

=inf¢ Y plz,y)g(z,y): ¢0 (p,y) 0000000
z,yeS

O00000. 00 pg 0 KantorovichO OO 3OO .
00 11.1. pg O P(S)ODO0D00OOOO.

00.00000000.000000000000. py,pe,us €PS)000. p(z,y),q(z,y) €
P(SxS)00000 (u1,u2) 0000000, (ue,ps)0000000000.000000,

P, y)aly, 2)
@A =2 T

yeSs
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000000, r(x,2)0 (u,ps) 0000000000.000,00000,000 yesS0O0OO0
0 ue(y)>0000.00,

> r(x Zszy (9,2 = pla,y) = m(x),

z€S zeS yes yeS

p T y ya
D or(w,z) =Y Y T = N q(y, 2) = pa(2)
zeS zeSyes yes

ooo0.0o00,

prc(pins ) < Y pla, 2)r(w, 2)

z,z€S

_ z,7) p(x,y)q(y, 2)
=2 2 oy

z,zeSyeS
< p(z,y)q(y, 2)
< > {olx,y) +ply, 2)}2 W)
z,z€S yeS K2ty
p(x,y)p xy)z Z ply: 2)q(y, 2) Z
=D p(z.y)
z,yeS ) zeS y,zES zeS
= > ol ype,y)+ Y oy, 2)a(y,2)
z,yeS y,2ES
0D0000.000,p,¢q0000 inf0000,00000000. O

0 11.1. 1. S32x+—46,€eP(S)00000O0O0O0O0O0O, pg 0 SOO0DO p0O P(S)OO “O
00”00000000000000. 00, (4,,6,) 00000000 4.,y 0O0O0O00ODO

2. Kantorovich 00 0O Wasserstein D 0O OO0OO00O. 00O, Kantorovich OO OO OODOOO
00000 19420000, Wasserstein 0 00 “O000” 000000 30000000. [12]
00,00 Kantorovich OO OO OO0OO0OO0O, 00000000000 OO0DOODOODOO
oooooooo,000oooooooooooo.

3. Kantorovich 000000000 (ODODO [14,15)00)00000. 000, p,v O “007
00 20000000,p(x,y) 0200 y0000000000000O,

> (@ y)alx,y)

z,yeS

pbobOO0OO0Ob0OO0OOb0OO0OObOO0OObOO0O0vOOObOO00OO00Oo0oo0ooOoooOoooOg
0,000000¢(xy)00000000O00O0OO0OOOOOO.

oo,0000 sooooooOoo0oooo00.obo,S0000 poooooooooboon,

plx,y) =min{k : x = xox129 -2 =y, T;—12; € B}

(11.1)
=% 0 y0000000000007

ooooo.

0 11.2. 0000000 MarkovOO (Pr)000000O0O0OOOOOOOOOOOOOOOO
O,MarkovOO0O0D0OOOOO0SRWOOODOOOOODOOOOODOOOO.
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000000d00000000000:
L, =z#y,
d(z,y) =
0, =Y.
000000000000 d(z,y) <plz,y) 000. 000000 $O00000 X,YyOoOooo,
P(X #Y) =E[d(X,Y)]
<E[p(X,Y)]
000.000 (X,Y)0 (u,v) 00000000000, (6.3)0 p, 00000
I —=vilrv < pr(p,v) (11.2)
ooooo.

00 11.1 (Bubley-Dyer [3]). (S,p) 00O MarkovO O (P,m)0000. 0000 o>0000
plz,y) =100000 2,y € SOO0DODO (P(z,9), Ply,¢) 0000000 (X,Y)0OOODO,

Elp(X,Y)] <e™®
0OooO0o00D0O0. 0000,

pr(uP,vP) < e “pk(p,v) Vu,v e P(S) (11.3)
0oo.ooo,
d(t) < e~ *diam(S) (11.4)
0oo.00,
—1 1 i
b (€) < { oge+ ogdlam(S’)J (11.5)
a
ogooog.

O00.z,yeSO00000. p(z,y) =k000,z=xx122---2,=y00000 100000.
oooo,

k
pK(P(lL' . S Z xl 1,@ aP(miv.))
=1 (11.6)
< KE[p(X,Y)]
<e p(z,y)

00000000000000. preP(S)000,PeP(SxS)0 (u,y)0ODOODD,
Q((z,y),(e,0)) 0 (P(xz,e),P(y,e)) 00 0000O000OO0. 0000, PhQeP(SxS)0O

(POQ)(Zaw) = Z Po(x,y)Q((x,y), (Z’w))v Vz,w € 57

T,yeS
ooooog, QO (uPﬂ/P)DDDDDDDDDDDDD.DD

Z(POQ zZ,w) ZZPOJJZ/ s Y)s (2,w))

weS weS z,yeS

= Roa.y)P(,2)

T,yeS

= 3 u(@)P(,2)

zeS

= (uP)(2)

29



o000, »PODO0O0OOODOODOOODO. OO0 pg0O00ODOO

px (pP,vP) < Z p(z,w)(PoQ)(z, w)

z,weS

= Z p(z7w)P0(x,y)Q((z,y),(z,w))

z,w,x,yeS

000,00 ROQODOOOODOOODOOO0ODOODOODODOOD,00OOO0DOO0
= Z P0($7y)pK(P(xa.)aP<ya.))'
z,yes

000 (11.6) 00

pr(uP,vP) < > Po(z,y)e ®pla,y) = e “pr (1, v)

T,yeS

0000 (11.3)00000. 000000 R,ODOOODO. 000, (11.2)000,
|uP" — vP|lrv < pr(uP’,vP")
<e pi(u,v)
00000.00, (ky) 00000000 (X,Y)0DOO0O,

pK(M? V) S E[p(Xv Y)]
< diam(S)

00000, dt) <d(t) <e diam(S)00000. (11.5)0 (11.4) 00000000, O

gooooOoDoOOO GUOoO0OD,¢0000ooobobooDDOoO SocoooooOoO Markov
gbooooo. ooo,00bd proper00b00o00conoOobOoOoogobDOon.

0 11.1 (Markov Chain on g-coloring). G = (V,E) 000000, A = maxgegdeg(z) (00O
0)000. SO (proper DO0O0O0O0O) gcoloring 00000 S={c:V —q}00,5S000
00 Sproper D proper 10000000000, SO0 MarkovOOOOOOOOOOOOO. O
00000 MarkovOOGOOOO ceSOOO,

1.0veVOOaclgOOOOO (000O0OO1/|V],1/q00000000);
2.0 N,0000000,c¢(v)0 a00000.

00,200000000000000000 Sprepe: 1000,00000 Sproper 100000
000000000000000.¢>A+20000,00 MarkovOOOOO Sproper 0000
0000000O0000.0000,0000000000 (A+2)-coloring0 00000000
0o0o0o0oo.oooa, Pls 0000000000 MarkovOOQODO.

proper

000000 ¢>A+4200000,Brooks [2/000 194100000000000000 (O
00 [5, p.115, Theorem 5.2.4] J000O0O0): ¢, 0 nO000O0O0O0O0O cycleD 0000, K, O
nO0000000000000 (000 000000000000 0O0OOOO)0OOO0O,

00 11.2 (Brooks [2]). 000 GOODO0O,
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1. G#£Cy,_1, K, 0000, A-coloring0 0000,
2. G=0Cy 1000 K, 0000, (A+1)-coloring0 0000,
0o00ooooono MarkovOOOOGOOOODODODODOOD,0000000O0O00DO0O0OO.

00 11.3 (Jerrum [8]). G = (V,E)O, |[V|=n000000 AODOOOOOO,SO GO
g-coloring 00000000, ¢>2A+1000,0 11100000 SO0 MarkovOODOQOO
000000, tmwix=0(nlogn)0000O0O.

000Dn0000000000000D000 mixingDOOOOOOODO 1040 Markov OO
000 (000000000 R»-10000), 0000000000000, n00000000
0000000 mixingDOOOOOOOOOOOOOOOOO. 000 fast mixing (0000
rapid mixing) 00 0. 00000 path coupling0 00 (00 11.1)0000000000O0O0OO.
00,0000000000¢>2A+104¢>1+¢)(A+2)00000 fast mixingOOOOO
ooooooooooobo.obooog,

00 (Open problem). 00 11.3000000000,¢>(1+6)(A+2) 000,00 a>00
0000, tmix =0(n®) 000,

12 00
000000000000031000000000000.

0031000.S8={1,2,...,n}0000000,P0 nxn00000000. f:8x[0,1) > 8
O

j—1 j
fliu) =34, Y P(i,k)<u<> P(ik)
k=1 k=1
00000000, {&h—012,.. 0 [0,1)000000000000000OODOO,
Xt+1 :f(Xtvft)a t:Oal,Qa“'

ooboobo,0b0o0oboobooboobooboooooboooooa. O

goog
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